DIRECTORATE OF SCHOOL EDUCATION
TAMILNADU

11JPCM08 | JEE PRACTICE QUESTIONS Lo
(2023-24) (TEST-8) Total Marks: 180
General Instructions:

1. The test is of 1.15 hrs duration and consists of 45 questions. Each question carries 4 marks. For each

incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.

3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15

1. A body of mass 10° kg moving with speed
2 ms™' collides with a body of mass 15 x 10° kg
inelastically and sticks to it. Then loss of kinetic
energy of the system will be

A)5KJ B) 15KJ

C) 1.875KJ D) 10 KJ

2 ms' GaussHe BH@ML 100 kg BlemmuleTerT
@@ QUT6T 15 x 10° kg BleMMU]6TET LOMGMITIH
QUITEBEBL6T SLFWMm GCOTH60 S emLHSI
9|5 801 L_60T L 1986 Q&TeTHMS! 61601160
SeWLILN6T @UISBHSH ,MMeSlev gMLIGID @LoLiL]

A)5KIJ B) 15 KJ

C) 1.875KJ D) 10 KJ

2. Two particles A and B, move with constant
velocities (V,) and (V). At the initial moment their
position vectors are (r,) and (f,) respectively. The
condition for particles A and B for their collisions
is

— —>

> —
A) I.vi =1.V,
> —> >
B)rIXVIZrZXVZ
> - - —
C)rl_r2_Vl_V2

> > —  —
n—1rn _ V,—/V

-l [v.—vi

D)

A DMHDILD B 67T @ SIS6TSH6ET (V, IHmid V)
6TedTn Epmer HenFCeausSH 60 5 ([H S 60T M 6.
SLDL & 60015 5 6L 36U mnl st Bletrov
QeusLISET WenmGW (f,) wommb (f) <wGh
6T6of16L A LDMMILD B &5 6TS 6T 60T GLO TS 691858 IT60T
BIUH & 60 6ot

— —>

.
A)r.vi=n.v,

B)fiXvi=n XV,
> — — —
C)rl_rZZVI_VZ
> > — —
D) t2=-2 0
|r1—r2| |V2_V1|

3. If two bodies stick together after collision and
move as a single body, the collision is said to be

A) Perfectly elastic
B) Perfectly inelastic
C) Elastic

D) Inelastic

CMENEHEGL  Ner @rUeor()  QLIMTHETSHET
QRETMMSEH 6L 195H60&MeoT()  GCT GILIMTIH6TTS
BEHITHSHMTV, HSH GLOMTHV GLM&H 6V

6TeTMl T MLUILIGSBMSI.
A) W LSS
B) L WL Swmm
O 5. &

D) S wmm
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4. A ball of mass M falls from a height h on a floor
and its coefficient of restitution is e. The height
attained by the ball after two rebounds is

A) e¢’h B) e*h

C) h/e? D) eh?

e IS A w6l &600Ta 1D Q& Mevor L M Blem mu6iTer
Ubsl @l h 2wisSelnbs  sayuile
Nl@HDE. QUETH WOD SIETETE SHEMLHS
D& 24bG LIHS L[S 2 WD

A) e?h B) e*h

Q) h/e? D) eh?

5. A ball of mass m collides with a wall with speed
v and rebounds on the same line with the same
speed. If the mass of the wall is taken as infinite,
then the work done by the ball on the wall is

A)0 B) 1/2 my?

C) mv? D) 2my

m Blenm Q& MeooTL LI5S 6260TMI v B6USH S H 6V &r6llT
eeTMleL CLOMH) 918 CausmGH 6L 6 GosTL_LQ 60T
adlwme HGLLUSB M. seaufler Blenm wolaeiled
6T60T Q&ITEOTL_ITeV, Sraumniledt 58 LhHS Q&FUIS
Geuemev

A)0 B) 1/2 mv?

C) mv? D) 2mv

6. A mass of 10 g moving with a velocity of 100
cms™' strikes a pendulum bob of mass 10 g. The
two masses stick together. The maximum height
reached by the system now is

A)5cm B) 2.5 cm

C)0 D) 1.25 cm

100 cms™ HlenFGausiH e QFevald 10 g Hlewm
&60TMI 10g BlemM G &TE00TL. DETF 6V (G600TIQ 60T LS
CLMaIHME. @reo( BleOMEEHLD Q6TMTSH
L 195 Q& MeTH 6TMmeT. FMHCLITS @) HS 2{6emLnLIL]
6D L_HSI6TET QLICHLD 2_UIFLD

A)5cm B) 2.5 cm

o D) 1.25 cm

7. The bob A of a simple pendulum is released when
the string makes an angle of 45° with the vertical.
It hits another bob B of the same material and
same mass kept at rest on the table. If the collision
is elastic:

B

A) Both A and B rise to the same height

B) A comes to rest and B moves with the same
velocity of A

C) Both A and B come to rest at B

D) Both A and B moves with the same velocity
of A

H60fl 26TF60) ETMIET 26TF) GH600T(H A L60TSHI
QEFRIGSHS  Havguley 45  CHTeTSH eV
alhalsslULbGSEmas. @a Cuenmsuller LS
MaGHILLL 268% mleom WLMHMID CH
QIMTHEITTEVITEOT LOMGMIT(H 28TF 6V (&600T(H B-@) 60T
W&l CLTEHHME!. @H& CLoMsev L& CLOM&H6eVTs
QlwIGELEY

B
A) A LDMHMILD B &FI0 2 WLITHNG 3L H M.

B) A @lle) Blemeuenll ML HmG LMHmIlD B
2460131 A W6t HensFCaudH 5560 FHHH M.

Q) A lnmmith B @ mevor(hLh B-6L 6pli16)] BlemevemLl
ML BMSI.

D) A MM B @ueor(hd A 60T HenrFGeous Hlev
QEFLH M.

8. A bullet of mass m moving with velocity u passes
through a wooden block of mass M = nm as
shown in figure. The block is resting on a smooth
horizontal floor. After passing through the block,
velocity of the bullet becomes v. Its velocity
relative to the block is

m
° -

TP e

Copyright @ THE ALCHEMIST CONSULTANCY



A) (I+n) +n)

) (1+nr)lv—u D) (1+n12u+v

u HFGaIsESEH6 HEHMHID m Blemm G & meoorL
GHTLLIT 6@60TMI LIL &6V 2_6T6rT LI M = nm Blemm
Q&MeooTL. 1078 Sl g QFHMm.
LOJ& & L6 WIT6ETSI ) 6 (LD 6 (L LI LI TeoT
@Dl L HMHH eUlalley 2 6Temgl. DTS
GleomLemw &LBS UIng GsmlLmaller
HemFGaIsd v 98 WTMIHMS 6reflel bHS
OIS SLemLemwll QUTMISS G mLLmellesr
FHen&FGeuss LD

® -
TIIFIIITIT e
a (50 gy Yo
Q) (1+n)v—u D) (I +n)utv
n n

9. A particle of mass m moving with velocity u
collides elastically with a particle of mass 3m at
rest. After collision the heavier particle moves
with velocity

A)u/3
B) 2u
C)3u

D) u/2

u HFCassH) BHMLD m  BlemU el Ll
@M QUTImeT @ule) Blemevuley 2 6Tem  3m
BlemmuwenLl QUTBHEBLET WL GmsHey
ML FH MG 6Tevtl6L GLOMHeIE &L LN60T &60TLOT60T
QUITIHET H&HIHLD Hlem&FGalsLD.

A) u/3
B) 2u
C) 3u

D) u/2

10. A billiard ball moving with a speed of 5 ms™
collides with an identical ball, originally at rest.
If the first ball stops dead after collision, then the
second ball will move forward with a speed of

A) 10 ms™! B) 1 ms™!

C)5ms™! D) 2.5 ms™
5ms” GausSHev QFsDd Levedlwrl uUbg
R6TN, QBTLESSHO @ule] mlemeuuliley

2 6Tem 6 WLIHlwmer UBS e6oTmIL 60T
CUMEIRME. CLMENHGL NeT (WHL UbBS!
Blemeuwlma: BIM&H MG 6Teoflev @) T600TLMeUG! LB S
(TGS H&[HLD CaussLd.

A) 10 ms™ B) 1 ms™

C)5ms™! D) 2.5 ms™!

11. A ball strikes a horizontal floor at 45°. 25 % of
its kinetic energy is lost in collision. Find the
coefficient of restitution.

A) 12
B) 1/4
C) 12

D) 1/242

Unhg eerm  sevpulledr 1WSs  HeLGoser
Flemguley 45 CHTeTSEHeL  CLMSHIHMG.
Gmgedler GLIME 25% @ UGS MMMV S
@WEHME aafle WS weflliL &GeoreHsams
&5 T600T S

A) 12
B) 1/4
Q) 1/2

D) 1/2~2

12. A bullet of mass 20g and moving with 600 ms™!
collides with a block of mass 4 kg hanging with
the string. What is velocity of bullet when it
comes out of block, if block rises to height 0.2m
after collision?

A) 150 ms! B) 300 ms™!

C) 200 ms™! D) 400 ms™!

20 g mleom WOMID 600 ms' HeFCalsHSSIL 60T
B&HMBLD CHMLLT @aTm &Hulm earmley QsTHSH S
Q& METI(H&H G 4 kg BlemmujeTer sl enufler g
CLNaHms!. (zmng,guas@u Netr &L emLwimestgl 0.2 LS
2w 2 wWibsme Sl oL@ Geeflew
QUL CUTE CSMLLTelle Hen&GealsLh eTeiTeor?
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A) 150 ms™! B) 300 ms™!

C) 200 ms™! D) 400 ms™!

13. Ablock of mass 0.50 kg is moving with a speed of
2 ms™' on a smooth surface, it strikes another mass
of 1 kg and then they move together as a single
body. The energy loss during the Collison is

A)0.671] B)0.16J

C)0.34] D)1]J

050 kg mleOM Q&HMeooTL M &L 6O UITETSI
aIWeIWLILImeT LITLILI6L 2 ms™ etedTm Gous &S 6V
B&GHMS, G LHADTG 1 kg Blenmuler s
GLMEH @Cy QUMBETTES BHHMHMSE 6Teflev
GLOM&H6e960T GLIME gFMLIL L QuMM6L G LoLIL]

A)0.67] B)0.16J

C) 03417 D)1]J

14. A particle of mass m moving with speed u collides
perfectly inelastically with another particle of
mass 2 m at rest. Find the loss of kinetic energy
of system in the collision.

A)0 B) 1/3 mu?

C) 1/2 mu? D) 1/5 mu?

u CalssHe) [BHIID SHGHET TN 6UI6)]
Blemeuuille 2 6Tem 2m  BleMUL6TET MHGMITIH
Qummerfler 18& W WBLAWDHM CLmsedlev
FHUBSRMS! 6TeofleL GO eS6T CLIMSI e MHLI(ID
QLMM6V @\LPLIEDILI &IT600TSH

A)0 B) 1/3 mu?

C) 1/2 mu? D) 1/5 mu?

15. A ball falls from a height such that it strikes the
floor of lift at 10ms'. If lift is moving in the
upward direction with a velocity 1ms™, then
velocity with which the ball rebounds after

elastic collision will be
A) 13 ms! B) 11 ms™!

C) 9 ms™! D) 12 ms™!

e® GOUllL 2wrsHedmbhs  10ms”
CaussH eV QUL LB eoTml Tms' CausksH eV
GL6v CBHMESH B WeTETHRUIN6T &6Tdh T 60
GMaIH MG erefley LIS LG CLOMEHevenLHIl
GO WDLILD HlemFGalsiD.

A) 13 ms™ B) 11 ms™!

C) 9 ms™! D) 12 ms™!

| CHEMISTRY Q.No. 16 to 30

16. The radical ©— CH_- is aromatic because it
has,

A) 7P orbitals and 7 unpaired electors

B) 6P orbitals & 7 unpaired electrons
C) 6P orbitals & 6 unpaired electrons
D) 7P — orbitals & 6 unparted electrons

@-CHz‘ gern o miliy  SGTTGLLIE

&60T60 L0 UL 6M LU &I 6 G 6oTenfl6v,

A 7P Tl LTev&EeT Wmmih 7 SHeflss
6TG6V &5 L[] IT6OTE5 6T

B)6P T LMeuseT Wmmih 7 SHellsEs
6TQ6VEL_[J 60T 6T

Q6P iUl LTV&G6T WwHmID 6 SHallss
6TQ6VEL_IJIT6OTEH 6T

D) 7P Sl LMeu&G6T MM 6 SHaflss

6TGI6VE L[ IT6OTE 6T

17. The structure of Isobutyl group in a organic
Componds is

A) CH,~CH,~CH,~CH

B) C|H3

CH,—C—
|
CH

3
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CH,
C) >CH—CH2—
CH,

D) CH,~CH-CH,~CH,

@M &l CriungdHer NCFT  Lwlemle
2 MILIN60T SiemLDLIL] 6T6OTLIS

A) CH,~CH,~CH,~CH -

CH,
0 >CH—CH2—
CH,

D) CH,~CH-CH,~CH,

18. Some meta directing substituents is aromatic
substituents are gives. Uterich one is most
deactivating?

A) -COOH B) -NO,
C)-C=N D)-SOH
SCrmGLOL 1958 LSS G 6lemeoras61fl6v

Flev QULLT aufl BLESID COFHTGHH&H6T
STLUUL(heTerer. eummley 61l 0 UH &HINMTSH

QEFWELH M GHMMERMSI.
A) -COOH B) -NO,
CO-C=N D) -SO,H

19. Which of the following organic compounds
has same hybridisation as its combustion (CO,)
product?

A) Ethane B) Ethyne

C) ethene D) Ethanol

Nereu@Ld Sifln GFFLOUNLD, SiSHeemL L 6Tfl56v
ellemeoTLIQUITGeTT& W CO, W @Cr elgLomeor
&6V ILN60TINTE &6m6V )LD MI6TET6oT?

A) FF &G 60T B) T & 60 & 60T

C) FF &G 60T D) 678 & 60TIT6V

20. Which one is most reactive to wards nucleophilic
addition reaction?

CHO

= Z
N=—0 ;
)

oI

CHO

©)

~o)-

CH

CHO

D)

<o)

NO

2
&H(HH&HT CFFTHmMS alleneruie L& FH &S
allemeorL|fILLD 5560T6mLDW|60)L LIS 6TSHI?

CHO
A)

RO

C-CH,

&

CHO

0

~o)-

N
T

w

>

<:> )
T
O

=z
O

N
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21. Which of the following compounds will
undergoes racemisation when solution of KOH
hydrolysis?

A)@(

B) CH,—CH,—CH,—Cl

CH.Cl

CH,
C) |
CH,~CH—CH,—Cl

CH

3

|
D) H—(li—CI
C2H5

KOH Q& meoor(h) BrmhuUGs G0 Cumg! LNereusid
GFJOMmIGEfle  6&H  SLOWMU  S6eVeM6eUW TELD
allemers@ 2 LIS mSI?

CH.C|
NOS
B) CH,—CH,~CH,—Cl

CH,
C) |
CH,~CH—CH,—Cl

CH

3

|
D) H—C|—CI
C2H5
22.Inan SN1 reaction as chiral Centres there is

A) 100% racemisation

B) Inversion more than retention leading to partial
racemisation

C) 100% retention

D) 100% inversion

& T6L S emLoLILI6tT LS SN, 6l6m6or UN 60T &M & LD
A) 100% & LALDTUI &6V6M6)U WIS 6V

B) SiemLDLIL] Blemev QILIMIGEmeV (retention) eTH [T

FPOHFWMTHE)  (Inversion) HSHLIOTHEVITEL
UGS L [T 4V FH6V60)6U T & 606V
2 (HUMHGH M.

C) 100% emLoLIL] Bletev G\LIMIG 6D

D) 100% 2{6mLOLIL] 6TH [FLDMIG 6V

23. Twopossiblesteiostructuresof CH,CHOHCOOH,
which are optically active are called.

A) Diastereomers B) Atrop Isomers

C) Enantiomers D) Mesomers

@efle spmmib uesoTLemLw CH,CHOH COOH
60T @@ WLILIFDMeooT D 6mIDLIL|&H6T 6TeUaUTMmI
ML &S LILIH 60T M 6oT?

A) Lwmenlg flGwimn i

B) QL GIMLl GFMIDI&H6T

C) @) 6oTeOTFNGUITLOT & 6T

D) LSGEF ML & 6T

24. Consider the following compounds
conjugation occurs in

hyper

CH, plh
I
1) CH,—C—CH—(o) 1) ph—C—ph

w ({1
CH,

A) I only B) II only

C) 111 only D)I &I

LY edTeupeusoTeummlev 2 _6Tem GFFLOLD 6TSI1?

CH, plh
| .
1) CH,—C—CH—(o) 1) ph—C—ph

110) @
CH,
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Al L @D B) Il LOL_()ILD

Q) Il L BILD D) | LnMmiLb I

25. Structure of the compound Which IUPAC is 3 —
Ethyl, 2 — hydrony 4-methyl hex -3-en-5-Inoic
acid?

OH

Zz
7 N\

COOH

COOH

Z

o
T

COOH

8

o
T

COOH

=
=

IUPAC QUIWIT B - 6eT&&H60 -2 emamiq Imgend —4—
QUEHL Qamsev  —3-rer —5-:Culmentls
I|euLD eTedTLIEN S GM& G LD emIDLIL| 6TS?

Z
o
T

=

COOH

COOH

o
T

COOH

8

OH

D) COOH

=

26. Which of the following statements not correct for
a nucleophile.

A) Nucleophile is a Lowis acid

B) Ammonia is a nucleophile

C) Nucleophiles attack low electrons density sites

D) Nucleophiles are not electron seeking

HHS&EHT  elemerll  Qum@Eetlemerl LM

FHUMITET &([HSHSI?
A) @@ suruien 9Ldlevln
B) 2{LDGLOTE0TIWIIT6R(IH & (1H &6 T 61 60Y60T LI Q) LIMT([H 6T

Q) eTQEVSL_TMeT QEFNI6] &MEUTET @)L &0
BMEGLD HeTemLoleTer elemeorl] Q\LIMTH6T

D) @606l 6TQ 6V 8 L_IJ IT6DY 60T
QFeLaUTLEmEV

1

27. Which of the following biphenyls is optically
active?

Pt

iii
&)

Q ~
i,

5
:

@
s

©w

z
o

S}

s
S

Br Br

3

—
—

Netreu@ld @@ Liememeugserfley eperfled & pmmih
LI600T L] 60 L_UI&I7?

[l

Z
Q
@

3
3

@
s

w

Z
o

S}

e

Br Br

g

—
—
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28. Which among the given molecules can exhibit
tautomerism?

) 1)

ph
ph

111)

A) III only
B)I & 1II
Ol&ll

D) I & 111

L9 edT6u (61 60T6U M Ml 6L @\ WMBI&
WrHMWLD Q& mesT(heTer CFFLOLD 6T&I?

) 1)

FLOBlen6y

ph
ph

110)

A) Il L @Lb
B) I Lo miLh Il
Q) | LoD 1

D) Il Lo mtd 1l

29. The IUPAC name of the compound

o O
oL
A) 5 — methyl — 4- Oxohexo-2en 5-al
B) 3-keto-2-metlzlhex -5 enal
C) 3-keto-2 methyl hex — 4 enal

D) 5-formyl hex -2-en-3-one

SO L GFTINGESH 6T IUPAC QLIUIIT 6T60T60T?

O O
oL
A) 5QLGSF6V 4 915GV QM 6N 2 F60T 5 34,60
B) 3 BLGLIT 2 QFH6L QamEen 5 F6iT 3,60
Q)3 BLGLT2 QH6L Q6aq&6M 4 F6iT 460

D) 5-LIMJemnL06V Gle)q 856/ 2 FF60T 3 6260T

30. The most suitable method of separation of 1 : 1
mixtne of ortho and para - nitrophenols

A) Crystallisation
B) Steam distillation
C) sublimation

D) Chronmatography

TS5CHT WMHMID LUTTT enBLETT L6V 60T
B WaummMler 1: 1 &Heveneuenwl LNfls0 &M &G LD
Frflwmer Wemm?

A) LI &LDMEH S 6V

B) Bymellwimev SMTUUEFR 6l 5560

Q) USMHBIGHLINMTSH 6D

D) euevorevor LN flemnas
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MATHS Q.No. 31 to 45 |

31. Ifinthe expansion of (1+x)™(1-x)", the co-efficient
of x and x* are 3 and —6 respectively then the
values of m and n are

A)9, 12
B)S, 16
C) 12,9

D) 13,9

(1+x)™ (1-x)" etedrm eNfleumsH&HESH 60 (WemmMGUW
X, X QHWeaImer Q& W&HG&:6T 3,6 6T6uflé m, n
6T600T 85611607 LOG)L1L| & 61T

A) 9, 12

B) 8, 16

0 12,9

D) 13,9

32. The last two digits of (27)* are
A) 01 B) 02

C) 03 D) 04

(27)7 —60T 6L F @) ([H )6V 85hI5 6T
A) 01 B) 02

C) 03

33. (z+v2'—1)°+ (z—y2*—1)"is a polynomial

of degree

D) 04

A)5 B) 6

C)7

(z+Vz'—1)"+ (x—v2'—1)° eTedTm LICLEMILIL &

Gamemeuuledr LI

D)8

A5 B) 6

Q7 D)8

34. The sum of the roots
1

‘ 2017 .
7227 + (f _ $> =0is

A) 504

of the equation

B) 400
C) 304
D) 404

i <% B 1->2017 ~0

eLN GV IG5 6Tl 60T o (D) &6V

6T6OT(D  &FLOGOTLIITL Q60T
A) 504
B) 400
C) 304

D) 404

35. Given T, inthe expansion of (1-3x)* has maximum
numerical value, the range of x is

(1-3x)5 - ete0Tn  Nifleumd:&HSHH 6T LLIGLITH 6T600T
HILIL| 2 6Tem 2 miliL T, eTeoflev x-6r efg&asLh

— 2 1
D) |53 vl 5-1]
42()22
36. Fractional part of the number 15 is equal to
A) 8/15 B) 1/15
C) 14/15 D) 4/15
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2022

15
A) 8/15

6T60T N eTevoT6u0T 60T LIl6dT6uTL LIS

B) 1/15
C) 14/15

D) 4/15

37.1If the number of terms in the expansion of

1 o, .
(x+1+5> is 17 then n is
A)8 B)9
O) 17 D) 16

(H 1 +%) gty efleunsss8d o drer
2 miIL&6rfledT eTevoTeuot 18608 17 6T6oflev n=

A) 8 B)9

Q17 D) 16

10
38. The co-efficient of x* in (1 - %) is

2
A) 405/256 B) 504/259
C) 450/263 D) none
T 3\ . .. . .
(j_?) eTeT eNfleumE: 88 &) 6L x* —60T Q&L
A) 405/256 B) 504/259
C) 450/263 D) eT&l6)]L8l6V6em6V

39. The largest term in the expansion of (3+2x)*
where x=1/5 is

A) 4, 5th term
B) 5, 6th term
C) 6, 7th term

D) 7, 8th term

10

(3+2x)° ettt alfleund&HHH 6V
WNelouflu 2 mili

x=1/5-60

A) 4,5 QLD 2_MILIL|&6T
B) 5,6 QylD 2 MILIL|&6T
Q) 6,7 QLD 2 MILIL|&6T

D) 7,8 QLD 2 mMILIL|&6T

40. In the binomial expansion of (a—b)", n>5 the sum
of 5th and 6th terms is zero, then a/b is
n—>

6

n—4
5

A) B)

5
n—4

6

C) n—2>5

D)

(a—b)", n>5 eteorm FEHoILIL eliflelley 5 WHMILD 6
D 2. ML S6leT Ga(&ev LRl ereofley
a/b-60T LDHLIL]

n—>5
6

A)

n—4

41. The co-efficeient of x'! in the expansion of (1+x?)*
(1+x%)7 (1+xH)" is

A) 1051
B) 1106
Q) 1113

D) 1120

(1+X2)4 (1+X3)7 (1+X4)12
X' —60T Q&P

eteorm  lfleuns: e s 8 6v

A) 1051
B) 1106
G 1113

D) 1120
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42. The co-efficient of t* in the expansion of (

1—t°V
. =3
is

A) 12 B) 15

C) 10 D) 14

(11_tt ) eteorm eliflefl6v t* -60T Q&L

A) 12 B) 15

Q) 10 D) 14

43.If n is positive integer and if (1+4x +4x?)" =

za o Wherea’s /are (i=0,2, 3, 2n) real

numbers then the value of 2 Z Az 18
r=0

A) 91
B) 9"+1
C)9-2
D) 9"+2
N6 (15 LAl 6 85 (LD (LD 6T600T, (1+4x+4x2)" = Zarx @B ai,
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